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[CSP401] One of these is not an infrastructural constraint to agricultural productivity
Arthropods

[CSP401] One of these is not associatedwith continous use of fumigants
stunded growth

[CSP401] What is the role of RNA Silencing in genetics
defence mechanisms

[CSP401] One of these is not a biotic constraint to agricultural productivity
storage

[CSP401] One of these is not an abiotic constraint to agricultural productivity
rodents

[CSP401] What do you call the drought between two rain falls
transient drought

[CSP401] What happens when too much fertilizer is applied during heavy rainfall
leaching of nutrients

[CSP401] One of these is an approach to controlling fungal diseases
sterilants

[CSP401] Which type of bacteria is used in transgenic plants
A, tumefaciens

[CSP401] One of these does not an animal pest
downy mildew
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